GRIKS5-R

k

ion
([CHDODH

GRKS5-R JdVI\—=Y3av*vy b

GRK5-R convers

CDEF SHIBATA R@EZHELVRDLIEIEE

CTEVFT,

ED

w NCT,

—33au+

ARm(E. SHIBATA GRKE @)X

*#B37ICIE. FliE SHIBATA GRKS5 KU

WETT,

VFy Y

3

S
* Assembly requires SHIBATA GRK5 and a (R31S093)racing

(R318093) L—yvFavI)\—
conversion kit.

DR

FASHIBATACZ

FASHIBATACS
GRK RACING

% DRIFTRCGRK ¢



IS ANE /Parts

@

O \ O
D NG —0 =0 -
® - )

@® O |
] o0 ol b O
@

fl \‘H‘WWW il

i {m
N

i

No. |(BR&m& Parts name {E%%/quantity

® |GRK5-R 7y/\—-Fv+ GRK5-R Upper deck 1
@ |GRK5-R E=4—-YU>hko—h GRK5-R Motor mount sheet 1
® |GRK5-R Z/\—F7YI> b GRK5-R Spur gear mount 1
@ GRK5-R 74 R5=vINI>Y GRK5-R Idler shaft link 1
® |GRK5-R £=49—-X9> N5 T5— GRK5-R Motor mount adapter 1
® |GRK5-R E=4—-¥9U>hk GRK5-R Motor mount 1
@ |GRK5-R \wFU—RJLA— GRK5-R Battery holder 4
GRK5-R \y7)—-RILF-TL—hk GRK5-R Battery holder plate 4
® [GRK5-R NyFYU—RILF—HRZ K GRK5-R Battery holder post 4
GRK5-R NyFU—T7w)C-TFL— K GRK5-R Battery upper plate 4
@ [GRK5-R J{wFY—-~_—-2TL—k GRK5-R Battery base plate 1
@ |GRK5-R J7XI>NPHT5— GRK5-R Fan mount adapter 2
® [(PARS=2¥Tb Idler shaft 3
PARS—F7 24T Idler gear 24T 3
® |1050R7USH 1050 Ball bearing 6
® |5.0x ImmAR—H— 5.0 x Imm spacer 3
@ (5.0 x 3mmAR—H— 5.0 x 3mm spacer 3
M3RF>EZ5Mmm Button head screw M3x5mm 2
® [M3RFUEZ8MmM Button head screw M3x8mm 2
@ |M3RFEZX10mm Button head screw M3x10mm 2
@ |M3MER6mMmM Countersunk head screw M3 x 6mm 10
@ |M3MEX10mm Countersunk head screw M3 x 10mm 6
@ M3MER12mm Countersunk head screw M3 x 12mm 4
@ |M3MER15mm Countersunk head screw M3 x 15mm 4
@ |7)ZMIvIvy-S Rosette washer S 4
@ |ouxy O-ring 8
@ |GRK5-R TL— R GRK5-R plate (S) 1




Cvwyy =1 ) — y mEZ M3 x 6
}\ YT U m}bg GJHI D ﬁﬂj Countersu)r(lk rﬂg}jd screw M3 x Bmm

Attaching battery holder Sy FU—F v \—TL—
Battery upper plate
Ny F U=k —
Battery holder
NNy FU—HRILF—RZ b
1 Battery holder post
(8 Ny FU—HRILFTL—b
attery holder plate
Battery holder plat
== i i . PPz,

O-ring
ZIL=MOVv 2 +—8
Rosette washer S

mEZA M3 x 15mm
Countersunk head screw M3 x 15mm

MmEZ M3 x 6mm
Countersunk head screw M3 x Bmm

Ny FYU—R=TL—k
Battery base plate

MEZ M3 x 6mm _—

Countersunk head screw M3 x 6Bmm

———-

*GRKS L=y JaAUN=I3aVyv—y —

= -

* GRK5 Racing conversion chassis =" - -
* ! AERICENBLEEA e R AN—FFPITU K~

*: Not included in this product Spur gear mount

F71=v bDEHMHIIT
Gear unit assembly

5.0 x 3mm Z~—H— 5.0 x Tmm ZR—H— eIy IRIDBRHEHE
Aluminum spacer 5.0 x 3mm Aluminum spacer 5.0 x Tmm

@ Application of thread lock

10507 UVY adhesive is recommended
1050 Ball bearing

S IRTDOER %G D
LTh 5. KiEHE LET
@Pre-tighten all the screws before

A RSFFIv T~
Idler gear shaft

tightening them completely.

x e

mEZ M3 x 10mm e=_ s N
\_ @ B A Countersunk head screw M3 x 10mm i A el
[

Idler shaft link

1 1

A RSEFPWOMFUE |LEBF7A RSFF | TEFPARSEY | ZNN—F7 |RINEZFVFF [RRKEZFYV
Idler gear position Upper idler gears |Lower idler gear [Spur gear [Min pinion gear [Max pinion gear
A. C B#fiE standard |24T 24T 76T 24T 31T

A. D 28T 24T 76T 17T 24T

A, D 24T 28T 72T 21T 31T

QEIRELMETE / Calculate Final Drive Ratio

OLEER7A RS + EZFVFT7. QFR7A RS + LBR7 A RS, @RIN—FT7 + TER7A RS, @F TF7 +~ "N)LF7

(MUpper idler gear-+Pinion gear. @Lower idler gear-+Upper idler gear. ®Spur gear--Lower idler gear. @Differential gear+Bevel Gear
BI&EDELE / final reduction ratio=Ox@ x @ x @

*¥2: 74 RS—F7OEHICK > TRIKHEL ICEEFHDbFE A

* 2: The final reduction ratio does not change depending on the number of teeth in the idler gear.



F71=v FOEDFIF

Attaching gear unit /’i i

mEZ M3 x 12mm
Countersunk head screw M3 x 12mm

*GRK5 7y I\P—LXYDV
* GRK5 Upper arm mount
E—5—~NIVRI—hk
Moter mount sheet

GRK5R FL—k (/) \’ :

GRK5-R plate (S)

7yN=TvF
Upper deck
*RYVEX M3 x 6mm
* Button head screw M3 x 6mm

* R VEZ M3 x 6mm
* Button head screw M3 x 6mm

*MEZ M3 x 8mm
* Countersunk head screw M3 x 8mm

* ! AERBICEHMTBLEEA
*: Not included in this product

E—5—0OWbDHIF I9—UVTT7 DD T
Attaching moter Attaching cooling fan

WY VEZ M3 x 5bmm
Button head screw M3 x 5mm ST R TS TH—

WY VEZXM3 x 10mm Fan mount adapter
Button head screw M3 x 10mm

MY VEZXM3 x 8mm

Button head screw M3 x 8mm
-V KNPHTTH—
Moter mount adapter 4

*TJ7INIY B
*Fan mount

*1 FERHERNITC. EHE(CEVIACHET
*1 Insert straight into the machine without
applying excessive force.

*2 FUNEKEERY 3L SRR Z R EEL.
E-9-2EETD

*2 Adjust the clearance for gears to run
smoothly

Can be combined with fans and fan mounts

MmER M3 x 10mm (sold separately).
Countersunk head screw M3 x 10mm

*(R315073) \yFU—0O—~<X DY NUTPFTIIN—RFT—
* U T:E_g _tt&l: g— %j%ﬁ * (R31S073) Battery low mount rear damper stay
*Note : Change to rear facing motor '

FIN—RT—DEEHANEELDFT,
Replace damper stay.

MTAICKDTCRE—F—DFHT DD, RT 1 DINIHREELDBENGDFT,
Body modifications may be required as the body may interfere with the motor.

FIDEDOMFIaEZZEELEFT .
Change the installation direction of the differential.



	説明書P1
	説明書P2
	説明書P3
	説明書P4

